Dilsen-Stokkem *** BEAU BRIDGE CLUB *** BBC-COMPETITIE 2019 *** 4 giften per ronde *** NZ OW| gift 1 NZ OW gift 2 NZ ow gift 3 NZ ow gift 4 NZ ow
1 Op "t Eijnde Thomas-Hubrechts Stefan 2 Terwingen Guido-Agten Guy 1 2 11 3 50 0O4H-1 O 14 -630 W3S!I+ 9 5 90 ZIN= 10 4 620 N5R+1
3 Van Dijck Josee-Lampole Christiane 4 Parthoens Georges-Engelen Eddy 15 16 1 13 -420 O4H£ 13 1 90 zzKQ 9 5 90 ZiIN= 4 10 190 z4R+§
5 Volders Omer-Sliepen Arnold 6 Vanderlinden Mia-Machon Connie 10 11 11 3 50 W4H—‘l 4 10 -110 W2S= ‘ 1 13 -100 ZIN-2 O 14 -140 O3H=‘
7 Cauwenbergh freddy—Eertmans Paul 8 Schoups Guy-Smith Stuart 4 7 5 9 -400 03N= ‘ 9 5 5003R-1 9 5 90 ZIN= > 12 170 NAK+
9 Kempeneers Piet-Lang Yvonne 10 Terlaak Roy-Hage Jaap 3 12| 11 3 50 04H-1 2 12 -140 W2S+1 1 13 -100 ZIN-2 10 4 620 NSK+1
11 Tillij Mar!anne-van Dijk Rein 12 Latour Jean-Van de Vloed Johan 13 6 1 13 -420 O4H£ 6 8 -90 OZRz‘ 9 5 9o0zine| 10 4 620 25R+f
13 Goyens Chris-Lathouwers Tom 14 Doyen Cor-Vandeweert Lambert |
15 Briers Jaak-Mesotten Louis 16 Vanstreels Frans-Hendrikx Nicole 9o 14 11 3 50 04H-1 9 5 50 WZS'% 9 5 90 ZIN=| 10 4 620 Z5R+%
17 Leenders Luc-Quetin Monique 18 Bye 17 8 5 9 -400 O3N= 13 1 90 Z2K= 9 5 90 ZIN= 10 4 620 Z5R+1
Bye |
NZ OW| gift 5 NZ OW gift 6 NZ Ow gift 7 NZ ow gift 8 NZ Ow NZ OW| gift 9 NZ OwW gift 10 NZ oW gift 11 NZ oW gift 12 NZ oW
3 4 11 3 50 O3R-1 10 4 300 W4S-3 14 0 300 W3N-3 O 14 -140 03S= 5 6 13 1 110 N2H= 10 4 140 Z2H+1 11 3 140 z3S= 10 4 -100 ZiN-1
Bye 14 17 0 14 -150 WlNJZ 10 4 140 Z3H= 11 3 140 ZSS£ 14 0 -90 W1N£
12 15 5 9 -100 z2Ss-1 14 0 500 O2H!I- 11 3 200 W3N-2 4 10 -100 Z4H-2 Bye
16 13 0 14 -140 OZHJl 10 4 300 W4S—§ 11 3 200 W5RJ2 2 12 -130 W4K£ 8 15 13 1 110 N2H= 3 11 -100 Z3H-1 14 0 530 z3S!= 10 4 -100 ZiN-1
6 9 5 9 -100 ZZS—f 0 14 -140 W3$£ 2 12 -630 WSNJl 10 4 50 W4K—£ 16 11 9 5 -50 N2H—£ 14 0 620 Z4H£ 8 6 100 OSH—é 4 10 -110 OSRZ‘
5 14 5 9 -100 ZZS—f 10 4 300 W4S—§ 6 8 -140 O3H= 12 2 100 W4Kg—l 7 2 5 9 -100 NZR—é 3 11 -100 N4HJ1 4 10 -130 W3R+£ 10 4 -100 ZiN-1
1 8 5 9 -100 ZZS—f 6 8 200 WSS!Jl 8 6 -130 W3R+1 7 7 -50 ZZH—f 3 10 2 12 -120 W2N£ 6 8 110 Z2H= 0 14 -420 O4H£ 4 10 -110 O3R=
11 2 14 0 150 W2N{3 4 10 100 WSS—# 4 10 -600 WSNZ‘ 14 0 500 W5Kq—3 13 4 9 5 -50 N2H—# 10 4 140 Z3H= 2 12 -300 Z4S#— 0 14 -200 Zle
|7 10, 11 3 50 O2H-1 2 12 -100 N4K!- O 14 -1100 N3K! 7 7 -50 N3R-1 |9 12| 5 9 -100 N2S-2 O 14 -200 Z4H-2 6 8 -100 7Z4S-2 4 10 -110 W2R+1
NZ Ow| gift 13 NZ OW gift 14 NZ oW gift 15 NZ oW gift 16 NZ oW NZ Ow| gift 17 NZ OW gift 18 NZ oW gift 19 NZ oW gift 20 NZ oW
7 8 5 9 620 N5R+1 4 10 -50 N4H-1 10 4 90 Z1K+1 6 8 -620 O4H= 9 10 13 1 50 O2R-1 14 0 140 z3s= 10 4 490 Z3N+3 4 10 -620 O4H=
2 3 5 9 620 N5R+# 14 0 450 N4H{l 7 7 -140 03H=‘ 6 8 -620 W4H= 4 5 0 14 -150 N38J3 6 8 -100 Z4S—# 10 4 490 23N+% 9 5 100 O4H—%
10 17 12 2 1370 Z6R= 12 2 420 N4H= 12 2 100 04H!- 12 2 100 W4H-1 12 1 6 8 -110 O3R= 0 14 -200 N4s-2 1 13 -50 N6N-1 O 14 -690 O3N+
Bye ‘ 17 6 | 6 8 -11003R=| 6 8 -100 z4S-1 14 O 520 Z3\N+4 9 5 100 O4H-1
15 4 12 2 1370 N6R= 4 10 -50 N4H-1 1 13 -500 zZ4K!- 6 8 -620 W4H= Bye
9 16 0 14 500 OSH!L 4 10 -50 N4H—£ 7 7 -140 OZH+£ 0 14 -630 W3N+1 15 14 6 8 -110 O3R= 6 8 -100 N4S-1 5 9 460 Z3N+2 9 5 100 0O4H-1
5 12| 5 9 620 Z5R+1 4 10 -50 N4H-1 14 O 150 O4H-3 6 8 -620 WA4H= 7 16| 13 1 50 W3R-1 6 8 -100 z4S-1 1 13 -50 NSK-1 9 5 100 WA4H-1
1 6| 5 9 620 NSR+1 10 4 400 Z3N= ‘ 4 10 -170 02H+2 6 8 -620 WA4H= 3 8| 6 8-110 02R+1 6 8 -100 Z4S-1 10 4 490 N3N+3 14 O 200 O6H-
|11 14, 12 2 1370 Z6R=L 4 10 -50 N4H-1 1 13 -500 ZSS;— 14 0 500 04S!-2 113 2| 6 8 -110 OSRZJﬁ 12 2 100 W3RJ2 5 9 460 23N+2L 2 12 -630 WSNJ
NZ OW| gift 21 NZ OW gift 22 NZ oW gift 23 NZ oW gift 24 NZ OW NZ Ow| gift 25 NZ OW gift 26 NZ OW gift 27 NZ oW gift 28 NZ oW
11 12, 10 4 50 O5H-1 0 14 -1370 06R= 12 -150 OIN+2 3 11 -50 N3H-1 13 14 6 8 100 W3H-1 1 13 -140 W2H+1 10 4 50 W4H-1 1 13 -100 Z6K-
6 7| 6 8-170 0O1H+3 11 3 -630 W3N+1 11 3 -90 OIN= 3 11 -50 Z3H-1 8 9| 8 6 110 N25=| 4 10 -110 W2H= ‘ 10 4 50 WAH-1 6 8 630 Z3N+1
14 3 4 10 -200 Z4S!Jl 6 8 -660 W3N+é 8 6 -110 w2s= 10 4 110 ZZHZ‘ 2 5 3 11 -50 z4s-1 11 3 100 W2H-1 10 4 50 OSN—f 14 0 1440 Z6N£
13 8 1 13 -420 O4H£ 11 3 -630 WSNJl 11 3 -90 WIN= 3 11 -50 Z3H-1 1 10 11 3 130 NSRJl 11 3 100 W4HJ1 2 12 -400 W3N£ 4 10 150 ZSK+£
17 2 10 4 50 O5H—£ 6 8 -660 03N+é 14 0 100 OZNJl 8 6 100 WZS—é 11 4 0 14 -100 Z4S!L 11 3 100 W4HJ1 10 4 50 OSN—f 12 2 1390 N6RJ
Bye ‘ 17 12 3 11 -50 NSSJl 1 13 -140 W3$£ 2 12 -400 W3N£ 10 4 690 Z4N+é
15 10 1 13 -420 O4H= 6 8 -660 W3N+2 0 14 -500 N2H!I- 13 1 140 Z2H+1 Bye ‘
5 16 14 0 790 Z4Sg= 14 0 -620 W4S£ 6 8 -120 OZNZ‘ 3 11 -50 ZZHJl 15 6 11 3 130 N2R+2 6 8 -100 N5K-1 2 12 -400 W3N= 1 13 -100 Z6K-
1 4 10 4 50 05H—1L 2 12 -690 W3NJ3 4 10 -140 w2s+1 13 1 140 ZSH£ 3 16] 14 0 200 O4Hg— 11 3 100 WZHJl 10 4 50 W3N—£f 8 6 680 N4H+£



